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"EFT stays ahead ofO**

ReedyStays Ahead Lemma
.

For all je E1 , . . ., 1515 fj < fj

Thyinduction on jobs added by EFT.

Case .

EFT adds jobs by earliest finish time.

=> [S1
,
f1] ES chosen becausef mining fi









"EFT stays ahead ofO**

ReedyStays Ahead Lemma
.

For all je E1 , . . ., 1515 fj < fj
-

InductiveHypothesis. For all ick
, f
,
= f

*

By IH ,
fut [ fr [Sc

.

So [sY
,
fr] = O

*

does not conflict <Esc .
fi)---[Su+,fun])

But [Sn .fr] is

of testnon-conflicting s one
---

*I Th -*Su-





"If EFT stays ahead ,
then EFT is optimal"

EestFinish Time Lemma

For all jeEl , ..., k3
=> S is also optimal .

fi < fi
-

Similar Argument.

See KT Claim (4 . 3)
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Cut Lemma
.
Given a graph , G

= /V
,
E

,
W).

-

VIS& *S
Consider any non-emptyt (S , VIS).

↳ partition of vertices

into two sets

SEV
,

VISEV











Significanceof Cut Lemma ?

Given T= (V
,
E)

if there exists some cut (S ,
VIS)

and T does not include est
,
then

↑ is not an MST
.

any algorithm for solving MST mustSo

collect" e
*

for every non-empty (5, VIS)S





Proofof Cut Lemma. By exchange argument .

Start with a spanning tree To
that does not contain some es.

-

Show how to exchang e est for an
-

edge e in To sit the tree weight drops.




























